	1ère ES
	Équations du second degré
	Corrigé



Exercice 1 :
a = 2

b = 4

c = – 6 
 = 4² – 4×2×(-6) = 64
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L’équation 
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 a pour solution S = { 1 ; 8 }
· Retour à l’aide
· Retour aux exercices
Exercice 2 :
a = – 3 

b = 7

c = – 8 

 = 7² – 4×(– 3)×( – 8) = – 47

L’équation 
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 n’a pas de solution,  S = 
[image: image4.wmf]Æ


· Retour à l’aide
· Retour aux exercices
Exercice 3 :
a = 5

b = – 8

c = – 10 

 = (– 8)² – 4×5×(– 10) = 264
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L’équation 
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 a pour solution 
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· Retour à l’aide
· Retour aux exercices
Exercice 4 :
a = 36

b = – 84
c = 49 

 = (– 84)² – 4×36×49 = 0
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L’équation 
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 a pour solution 
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· Retour à l’aide
· Retour aux exercices
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